
QID : 101 ­ 

Options:
1) 35

2) 37

3) 39

4) 41
Correct Answer: 35
Candidate Answer: 35

QID : 102 ­ 

Options:
1) 5

2) 6

3) 7

4) 8
Correct Answer: 6
Candidate Answer: 6
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QID : 103 ­ 

Options:
1) 99, 00, 69, 86, 32

2) 02, 04, 88, 30, 42

3) 89, 88, 75, 31, 03

4) 00, 33, 75, 24, 98
Correct Answer: 00, 33, 75, 24, 98
Candidate Answer: 00, 33, 75, 24, 98

QID : 104 ­ 
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Options:
1) 

2) 

3) 

4) 

Correct Answer: 

Candidate Answer: 

QID : 105 ­ 
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Options:
1) 

2) 

3) 

4) 

Correct Answer: 

Candidate Answer: 

QID : 106 ­ 

(4)

Download More Papers From GovtJobsAlert.In

Download More Papers From GovtJobsAlert.In

Gov
tJo

bs
Aler

t.In



Options:
1) 

2) 

3) 

4) 

Correct Answer: 

Candidate Answer: 

QID : 107 ­ 

(5)
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Options:
1) 

2) 

3) 

4) 

Correct Answer: 

Candidate Answer: 

QID : 108 ­ If 'A' means '+', 'B' means '×', 'C' means '÷' and 'D' means '–', then

19 D 3 A 11 B 12 C 132 = ?

यिद 'A' का अथ塪� '+', 'B' का अथ塪� '×', 'C' का अथ塪� '÷' तथा 'D' का अथ塪� '–' हो, तो

19 D 3 A 11 B 12 C 132 = ?
Options:
1) 14
2) 17
3) 23
4) 35
Correct Answer: 17
Candidate Answer: 17

QID : 109 ­ If 6 A 3 C 2 = 7 and 17 A 7 C 11 = 13, then

21 A 1 C 12 = ?

यिद 6 A 3 C 2 = 7 तथा 17 A 7 C 11 = 13 हो, तो

21 A 1 C 12 = ?
Options:
1) 17
2) 14
3) 15
4) 10
Correct Answer: 10
Candidate Answer: 10

(6)
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QID : 110 ­ Arrange the given words in the sequence in which they occur in the dictionary.

1. Crow
2. Gown
3. Creep
4. Crane
5. Crest

िन猄िल埤�खत शퟜ�ो ंको शퟜ�कोश मꬅ आने वाले ꬅम के अनुसार िलखꬅ।

1. Crow
2. Gown
3. Creep
4. Crane
5. Crest
Options:
1) 43512

2) 43521

3) 45321

4) 45312
Correct Answer: 43512
Candidate Answer: 43512

QID : 111 ­ In the following question, select the missing number from the given series.

2, 6, 18, 54, ?

िन猄िल埤�खत ꬅ៏� मꬅ िदए गए िवक�ो ंमꬅ से लु韕� अंक 埱�ात कीिÿए।

2, 6, 18, 54, ?
Options:
1) 152

2) 162

3) 148

4) 164
Correct Answer: 162
Candidate Answer: 162

QID : 112 ­ A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

X, V, ?, R, P

एक अनुꬅम िदया गया है, िÿसमꬅ से एक पद लु韕� है। िदए गए िवक�ो ंमꬅ से वह सही िवक� ýुिनए, ÿो अनुꬅम को पूरा करे।

X, V, ?, R, P
Options:
1) S

2) T

3) U

4) Q
Correct Answer: T
Candidate Answer: T

QID : 113 ­ In the following question, select the odd word from the given alternatives.

िन猄िल埤�खत ꬅ៏� मꬅ िदए गए िवक�ो ंमꬅ से िवषम शퟜ� को ýुिनए।
Options:
1) Russian
ꬅसी
2) Hindi
िह唄ी
3) Punjabi
पंÿाबी
4) Economics
अथ塪�शा䨃
Correct Answer: Economics
अथ塪�शा䨃
Candidate Answer: Economics
अथ塪�शा䨃

QID : 114 ­ In the following question, select the odd number pair from the given alternatives.

िन猄िल埤�खत ꬅ៏� मꬅ िदए गए िवक�ो ंमꬅ से िवषम सं埜�ा यु윁 को ýुिनए।
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Options:
1) 8 – 13
2) 5 – 10
3) 7 – 12
4) 9 – 16
Correct Answer: 9 – 16
Candidate Answer: 5 – 10

QID : 115 ­ In the following question, select the odd letters from the given alternatives.

िन猄िल埤�खत ꬅ៏� मꬅ िदए गए िवक�ो ंमꬅ से िवषम अ埜�रो ंको ýुिनए।
Options:
1) QP
2) NM
3) VU
4) IJ
Correct Answer: IJ
Candidate Answer: IJ

QID : 116 ­ Identify the diagram that best represents the relationship among the given classes.

Trouser, Shirt, Garment

वह आरेख ýुिनए ÿो नीýे िदए गए वगꬅ के बीý के संबंध का सही िनꬅपण करता है।

पतलून, कमीज़, व�
Options:
1) 

2) 

3) 

4) 

Correct Answer: 

Candidate Answer: 

QID : 117 ­ In the following question, select the related word from the given alternatives.

Dawn : Dusk : : Up : ?

िन猄िल埤�खत ꬅ៏� मꬅ िदए गए िवक�ो ंमꬅ से संबंिधत शퟜ� को ýुिनए।

ऊषाकाल : सं�ाकाल : : ऊपर : ?

(8)
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Options:
1) Top
सबसे ऊपर
2) Long
ल韀�ा
3) Down
नीýे
4) Going
ÿाना
Correct Answer: Down
नीýे
Candidate Answer: Down
नीýे

QID : 118 ­ In the following question, select the related number from the given alternatives.

12 : 144 : : 14 : ?

िन猄िल埤�खत ꬅ៏� मꬅ िदए गए िवक�ो ंमꬅ से संबंिधत सं埜�ा को ýुिनए।

12 : 144 : : 14 : ?
Options:
1) 196
2) 172
3) 189
4) 156
Correct Answer: 196
Candidate Answer: 196

QID : 119 ­ In the following question, select the related letters from the given alternatives.

PHONE : ENOHP : : CALLER : ?

िन猄िल埤�खत ꬅ៏� मꬅ िदए गए िवक�ो ंमꬅ से संबंिधत अ埜�रो ंको ýुिनए।

PHONE : ENOHP : : CALLER : ?
Options:
1) RELLAC

2) LLREAC

3) RECALL

4) RELKAC
Correct Answer: RELLAC
Candidate Answer: RELLAC

QID : 120 ­ In the following question, select the word which cannot be formed using the letters of the given word.

SINGULAR

िन猄िल埤�खत िवक�ो ंमꬅ से वह शퟜ� ýुिनए ÿो िदए गए शퟜ� के अ埜�रो ंका ꬅयोग करके नही ंबनाया ÿा सकता।

SINGULAR
Options:
1) SIGN

2) SIGNAL

3) RAINS

4) RAISE
Correct Answer: RAISE
Candidate Answer: RAISE

QID : 121 ­ Raju remembers his birthday is before 18thJanuary. His wife remembers his birthday is after 16th January. On which date of January is his birthday?

राÿू को याद है िक उसका ÿ쀅िदन 18 ÿनवरी से पहले है। उसकी पퟸ�ी को याद है िक उसका ÿ쀅िदन 16 ÿनवरी के पퟳ�ात है। उसका ÿ쀅िदन ÿनवरी की कौन सी ितिथ को है?
Options:
1) 17

2) 16

3) 18

4) 16 or 17
16 अथवा 17
Correct Answer: 17
Candidate Answer: 17
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QID : 122 ­ A is mother of B. B is son of C. C is brother of D. D is niece of E. How is C related to E?

A, B की माता है। B, C का पुꬅ है। C, D का भाई है। D, E की भतीÿी है। C, E से िकस ꬅकार संबंिधत है?
Options:
1) Nephew
भतीÿा
2) Father
िपता
3) Husband
पित
4) Brother­in­law
ÿीÿा
Correct Answer: Nephew
भतीÿा
Candidate Answer: Nephew
भतीÿा

QID : 123 ­ In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All pens are pencils.
II. All pencils are cups.

Conclusions:
I. Some cups are pens.
II. Some cups are pencils.

नीýे िदए गए ꬅ៏� मꬅ कुþ कथन और उनके बाद उन कथनो ंपर आधाퟝ�रत कुþ िन퟉�ष塪� िदए गए ह塪�, हालांिक उनमꬅ सामा嘅 埱�ात त윁ो ंसे िभ꤄ता हो सकती है। सभी िन퟉�ष塪� पढ़ꬅ और िफर िनधा塪�ퟝ�रत करꬅ
िक िदए गए कौन से िन퟉�ष塪�, िदए गए कथनो ंके आधार पर यु埤�韐�संगत ह塪�।

कथनः
I. सभी कलम पꬅिसल ह塪�।
II. सभी पꬅिसल कप ह塪�।

िन�ष�ः
I. कुþ कप कलम ह塪�।
II. कुþ कप पꬅिसल ह塪�।
Options:
1) Only conclusion (I) follows.
केवल िन퟉�ष塪� (I) सही है।
2) Only conclusion (II) follows.
केवल िन퟉�ष塪� (II) सही है।
3) Both conclusion follow.
दोनो ंही िन퟉�ष塪� सही ह塪�।
4) Neither conclusion (I) nor conclusion (II) follows.
न तो िन퟉�ष塪� (I) न ही िन퟉�ष塪� (II) सही है।
Correct Answer: Both conclusion follow.
दोनो ंही िन퟉�ष塪� सही ह塪�।
Candidate Answer: Both conclusion follow.
दोनो ंही िन퟉�ष塪� सही ह塪�।

QID : 124 ­ In a certain code language, "SPROUT" is written as "XUWTZY". How is "STEAM" written in that code language?

एक िविशʼ कोड भाषा मꬅ, "SPROUT" को "XUWTZY" िलखा ÿाता है। इस कोड भाषा मꬅ "STEAM" को िकस ꬅकार िलखा ÿाएगा?
Options:
1) ZAFIP

2) RFJYX

3) XYJFR

4) AZUFY
Correct Answer: XYJFR
Candidate Answer: XYJFR

QID : 125 ­ In a certain code language, "FLIP" is written as "38" and "TRIP" is written as "58". How is "MAKE" written in that code language?

एक िविशʼ कोड भाषा मꬅ, "FLIP" को "38" तथा "TRIP" को "58" िलखा ÿाता है। इस कोड भाषा मꬅ "MAKE" को िकस ꬅकार िलखा ÿाएगा?
Options:
1) 26

2) 32

3) 28

4) 25
Correct Answer: 25
Candidate Answer: 25

(10)
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QID : 126 ­ What is the value of (.4)2 + (.04)2 + (.004)2?

(.4)2 + (.04)2 + (.004)2 का मान 韥�ा है?
Options:
1) 0.161616
2) 0.0161606
3) 0.001616
4) 0.000616
Correct Answer: 0.161616
Candidate Answer: 0.161616

QID : 127 ­ What is the value of (2.7 + 2.5)2 – (2.7 – 2.5)2?

(2.7 + 2.5)2 – (2.7 – 2.5)2 का मान 韥�ा है?
Options:
1) 27
2) 28
3) 26
4) 29
Correct Answer: 27
Candidate Answer: 27

QID : 128 ­ What is the least common multiple of (6/5) and (8/25)?

(6/5) तथा (8/25) का लघु韎�म समापव埤�塪� 韥�ा है?
Options:
1) 2

2) 24/3

3) 6

4) 24/5
Correct Answer: 24/5
Candidate Answer: 24/5

QID : 129 ­ What is the simplified value of [(√9 + √7) ÷ (√9 – √7)]

[(√9 + √7) ÷ (√9 – √7)] का सरलीकृत मान 韥�ा है?
Options:
1) 7 – √56
2) 8 – √63
3) 8 + √63
4) 7 + √56
Correct Answer: 8 + √63
Candidate Answer: 8 + √63

QID : 130 ­ Which of the following statement(s) is/are true?

I. (4/9) > (4/7)
II. (5/7) > (4/9)

िन猄िल埤�खत मꬅ से कौन सा/से कथन स埤� है/ह塪�?

I. (4/9) > (4/7)
II. (5/7) > (4/9)
Options:
1) Only I
केवल I
2) Only II
केवल II
3) Both I and II
I तथा II दोनों
4) Neither I nor II
न तो I न ही II
Correct Answer: Only II
केवल II
Candidate Answer: Only II
केवल II

QID : 131 ­ Which of the following number is divisible by 8?

िन猄िल埤�खत मꬅ से कौन सी सं埜�ा 8 से िवभाǛ है?
Options:
1) 98654
2) 97824
3) 99892
4) 112326
Correct Answer: 97824

(11)
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Candidate Answer: 97824

QID : 132 ­ A, B and C undertook a work for Rs 80000. Together A and B complete (3/4)th part of the work. What is the share (in Rs.) of C?

A, B तथा C ने एक काय塪� को 80000 ꬅ मꬅ िलया। A तथा B िमलकर काय塪� का (3/4)­वां िह更ा पूरा करते ह塪�। C का िह更ा (ꬅ मꬅ) 韥�ा है?
Options:
1) 20000
2) 25000
3) 30000
4) 22000
Correct Answer: 20000
Candidate Answer: 20000

QID : 133 ­ X alone can do a work in 300 hours. Y alone can do the same work in 450 hours. X, Y and Z together can do the same work in 90 hours. In how many
hours can Z alone do the work?

X एक काय塪� को अकेला 300 घंटे मꬅ पूरा करता है। Y उसी काय塪� को अकेला 450 घंटे मꬅ करता है। X, Y तथा Z िमलकर उसी काय塪� को 90 घंटे मꬅ पूरा करते ह塪�। Z अकेला उसी काय塪� को िकतने घंटे मꬅ
करेगा?
Options:
1) 150
2) 180
3) 220
4) 200
Correct Answer: 180
Candidate Answer: 180

QID : 134 ­ The angles of a triangle are in the ratio of 1 : 2 : 3. What is the measure of the smallest angle (in degrees)?

िकसी िꬅभुÿ के कोणो ंका अनुपात 1 : 2 : 3 है। सबसे þोटे कोण का मान (िडꬅी मꬅ) 韥�ा है?
Options:
1) 60

2) 30

3) 90

4) 45
Correct Answer: 30
Candidate Answer: 30

QID : 135 ­ A profit of 20% is made after giving a discount of 10% on an article. If the marked price of the article is Rs 3000, then what is its cost price (in Rs)?

एक व턄ु पर 10% की þूट देने के पퟳ�ात 20% का लाभ होता है। यिद व턄ु का अंिकत मूក� 3000 ꬅ है, तो उसका ꬅय मूក� (ꬅ मꬅ) 韥�ा है?
Options:
1) 3060
2) 2250
3) 2500
4) 2750
Correct Answer: 2250
Candidate Answer: 2250

QID : 136 ­ Akash purchased an article at a discount of 40% and sold it to Vinay at 10% profit. What is the ratio between the marked price and the price for which
Vinay purchased the article?

आकाश िकसी व턄ु को 40% की þूट पर खरीदता है तथा इसे िवनय को 10% के लाभ पर बेý देता है। अंिकत मूក� तथा िÿस मूក� पर िवनय ने व턄ु को खरीदा है, के बीý का अनुपात 韥�ा है?
Options:
1) 11 : 5
2) 50 : 33
3) 11 : 7
4) 25 : 16
Correct Answer: 50 : 33
Candidate Answer: 50 : 33

QID : 137 ­ If the sum of two numbers is equal to seven times of their difference, then what is the ratio of the numbers?

यिद दो सं埜�ाओ ंका योग उनके अंतर के सात गुना के बराबर है, तो सं埜�ाओ ंका अनुपात 韥�ा है?
Options:
1) 4 : 3

2) 3 : 1

3) 4 : 1

4) 1 : 6
Correct Answer: 4 : 3
Candidate Answer: 4 : 3

(12)
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QID : 138 ­ Three numbers are in the ratio 2 : 3 : 5. If the sum of their squares is 950, then what are the numbers?

तीन सं埜�ाएँ 2 : 3 : 5 के अनुपात मꬅ है। यिद उनके वगꬅ का योग 950 है, तो सं埜�ाएँ 韥�ा ह塪�?
Options:
1) 10, 15, 20

2) 10, 15, 25

3) 20, 10, 25

4) 30, 15, 25
Correct Answer: 10, 15, 25
Candidate Answer: 10, 15, 25

QID : 139 ­ The average of 5 consecutive numbers is 18. If next 2 numbers are also included, then what will be the new average?

5 ꬅमागत सं埜�ाओ ंका औसत 18 है। यिद अगली 2 सं埜�ाओ ंको भी शािमल कर िलया ÿाये, तो नया औसत 韥�ा होगा?
Options:
1) 18.5

2) 19

3) 19.5

4) 20
Correct Answer: 19
Candidate Answer: 19

QID : 140 ­ An article is sold at a loss of 14%. If the selling price is tripled, then what will be the profit percentage?

एक व턄ु को 14% की हािन पर बेýा ÿाता है। यिद िवꬅय मूក� ितगुना कर िदया ÿाये, तो लाभ ꬅितशत 韥�ा होगा?
Options:
1) 158
2) 100
3) 72
4) 125
Correct Answer: 158
Candidate Answer: 158

QID : 141 ­ If guava are bought at the rate of 3 for a rupee, then how many guavas must be sold for a rupee so as to gain 50%?

यिद एक ꬅपये मꬅ 3 की दर से अमꬅद खरीदे ÿाते है, तो एक ꬅपये मꬅ िकतने अमꬅद बेýꬅ ÿायꬅ िक 50% का लाभ हो?
Options:
1) 1

2) 2

3) 4

4) 6
Correct Answer: 2
Candidate Answer: 2

QID : 142 ­ A number is multiplied by (7/11) instead of (2/3). New value is what percent of desired value?

एक सं埜�ा को (2/3) की बÿाए (7/11) से गुणा कर िदया ÿाता है। नया मान,आपेि埜�त मान का िकतना ꬅितशत है?
Options:
1) 95.45
2) 90.9
3) 86.29
4) 83.45
Correct Answer: 95.45
Candidate Answer: 95.45

QID : 143 ­ Two numbers are 15% and 25% less than a third number respectively. First number is what percent of the second number?

दो सं埜�ाएँ एक तीसरी सं埜�ा से ꬅमशः 15% तथा 25% कम है। पहली सं埜�ा, दूसरी सं埜�ा का िकतना ꬅितशत है?
Options:
1) 113.33
2) 119.99
3) 122.22
4) 106.66
Correct Answer: 113.33
Candidate Answer: 113.33

QID : 144 ­ The speed of a stream is 3 km/hr. A boat goes 60 km and comes back to the starting point in 15 hours. What is the speed (in km/hr) of the boat in still
water?

एक धारा की गित 3 िक.मी./घंटा है। एक नाव 60 िक.मी. की दूरी तय करके वापस अपने आरंिभक िबंदु पर 15 घंटे मꬅ आ ÿाती है। शांत ÿल मꬅ नाव की गित (िक.मी./घंटा मꬅ) 韥�ा है?
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Options:
1) 8
2) 9
3) 10
4) 12
Correct Answer: 9
Candidate Answer: 8

QID : 145 ­ Two men are standing on opposite ends of a 1600 metre long bridge. If they walk towards each other with speeds of 12 m/s and 4 m/s respectively,
then in how much time (in seconds) will they meet each other?

दो 更埤�韐� 1600 मीटर ल韀े� पुल के िवपरीत िकनारो ंपर खड़े ह塪�। यिद वे ꬅमशः 12 मी./से. तथा 4 मी./से. की गित से एक दूसरे की ओर ýलना ꬅारंभ करꬅ, तो वे आपस मꬅ िमलने मꬅ िकतना समय
(सेकԆो ंमꬅ) लꬅगे?
Options:
1) 120
2) 100
3) 180
4) 150
Correct Answer: 100
Candidate Answer: 100

QID : 146 ­ In how much time (in years) will Rs 8500 amount to Rs 10200 at simple interest at the rate of 10% per annum?

िकतने समय (वषꬅ मꬅ) मꬅ 8500 ꬅ की रािश 10% की वािष塪�क दर से साधारण 韀�ाÿ पर 10200 ꬅ हो ÿायेगी?
Options:
1) 2
2) 3
3) 5
4) 15
Correct Answer: 2
Candidate Answer: 2

QID : 147 ­ 

What is the percentage change in the number of students passed in school A from year 2012 to year 2015?

वष塪� 2012 से वष塪� 2015 तक िव怄ालय A से उ韎�ीण塪� ꬅए þाꬅो ंकी सं埜�ा मꬅ ꬅितशत पퟝ�रवत塪�न 韥�ा है?
Options:
1) 4
2) 25
3) 20
4) 5
Correct Answer: 20
Candidate Answer: 20

(14)
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QID : 148 ­ 

In how many years was the number of students passed in school B more than that of school A?

िकतने वषꬅ मꬅ, िव怄ालय B मꬅ उ韎�ीण塪� ꬅए þाꬅो ंकी सं埜�ा िव怄ालय A से अिधक थी?
Options:
1) 2
2) 3
3) 5
4) 1
Correct Answer: 3
Candidate Answer: 3

QID : 149 ­ 

What is the average number (in 000') of students passed in school A over the given 5 years?

िदए गए 5 वषꬅ मꬅ िव怄ालय A मꬅ उ韎�ीण塪� ꬅए þाꬅो ंकी औसत सं埜�ा (000' मꬅ) 韥�ा है?
Options:
1) 49.6
2) 46
3) 48.4
4) 46.8
Correct Answer: 48.4
Candidate Answer: 48.4

(15)
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QID : 150 ­ 

What is the ratio of the number of students passed in school A in year 2015 to that of number of students passed in school B in year 2012?

वष塪� 2015 मꬅ िव怄ालय A मꬅ उ韎�ीण塪� ꬅए þाꬅो ंकी सं埜�ा का वष塪� 2012 मꬅ िव怄ालय B मꬅ उ韎�ीण塪� ꬅए þाꬅो ंकी सं埜�ा से 韥�ा अनुपात है?
Options:
1) 1 : 1
2) 24 : 25
3) 9 : 8
4) 4 : 3
Correct Answer: 4 : 3
Candidate Answer: 4 : 3

QID : 151 ­ In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

That is, poets began to reflect (1)/ the complexities of modern culture (2)/ it’s fierce disjunctions. (3)/ No error (4)
Options:
1) 1

2) 2

3) 3

4) 4
Correct Answer: 3
Candidate Answer: 3

QID : 152 ­ In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

But it will a slight exaggeration to (1)/ equate the extinction of a language (2)/ to the death of the human being. (3)/ No error (4)
Options:
1) 1

2) 2

3) 3

4) 4
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 153 ­ In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

He is virtuous and ______.
Options:
1) honest
2) the honest
3) honesty
4) a honest
Correct Answer: honest
Candidate Answer: honest

(16)

Download More Papers From GovtJobsAlert.In

Download More Papers From GovtJobsAlert.In

Gov
tJo

bs
Aler

t.In



QID : 154 ­ In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

It is ______ duty to help the poor.
Options:
1) everybody's

2) everyone

3) each one

4) everybody
Correct Answer: everybody's
Candidate Answer: everybody's

QID : 155 ­ In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Interference
Options:
1) Barring

2) Assistance

3) Harmony

4) Concord
Correct Answer: Barring
Candidate Answer: Barring

QID : 156 ­ In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Evasive
Options:
1) Devious

2) Straight

3) Ready

4) Direct
Correct Answer: Devious
Candidate Answer: [ NOT ANSWERED ]

QID : 157 ­ In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Comic
Options:
1) Funny

2) Sober

3) Solemn

4) Tragic
Correct Answer: Funny
Candidate Answer: Funny

QID : 158 ­ In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Wavering
Options:
1) Uncertain
2) Fickle
3) Unchanging
4) Unsure
Correct Answer: Unchanging
Candidate Answer: Uncertain

QID : 159 ­ In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Vice
Options:
1) Decay

2) Evil

3) ill

4) Virtue
Correct Answer: Virtue
Candidate Answer: [ NOT ANSWERED ]

(17)
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QID : 160 ­ In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Iniquity
Options:
1) Sin
2) Evil
3) Infancy
4) Good
Correct Answer: Good
Candidate Answer: [ NOT ANSWERED ]

QID : 161 ­ In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Best of both worlds
Options:
1) All the advantages

2) To waste time here and there

3) To wish good luck

4) To keep quite
Correct Answer: All the advantages
Candidate Answer: To wish good luck

QID : 162 ­ In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Costs an arm and a leg
Options:
1) Showing disappointment
2) Done in secret
3) Something is very expensive
4) Boring work or task
Correct Answer: Something is very expensive
Candidate Answer: Something is very expensive

QID : 163 ­ Improve the bracketed part of the sentence.

The reason that India has remained a parliamentary democracy was not because such a democracy was imposed (to) it.
Options:
1) at

2) on

3) in

4) No improvement
Correct Answer: on
Candidate Answer: in

QID : 164 ­ Improve the bracketed part of the sentence.

Often, the novels Agatha Christie wrote dismissed as inferior to the (most) famous early works.
Options:
1) more

2) many

3) much

4) No improvement
Correct Answer: more
Candidate Answer: many

QID : 165 ­ In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One who passes interest in religion
Options:
1) Fanatic

2) Fluctuating

3) Fetish

4) Fission
Correct Answer: Fanatic
Candidate Answer: Fanatic
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QID : 166 ­ In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

An art of garden cultivation
Options:
1) Hibernation

2) Haemorrhage

3) Horticulture

4) Hiatus
Correct Answer: Horticulture
Candidate Answer: Horticulture

QID : 167 ­ In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Circus

2) Sircus

3) Sercus

4) Ciricus
Correct Answer: Circus
Candidate Answer: Circus

QID : 168 ­ In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Diamond

2) Daimond

3) Diamund

4) Diemond
Correct Answer: Diamond
Candidate Answer: Diamond

QID : 169 ­ Rearrange the parts of the sentence in correct order.

One day
P: he will feel
Q: his responsibility
R: sooner or later
Options:
1) PRQ

2) RQP

3) QPR

4) RPQ
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 170 ­ Rearrange the parts of the sentence in correct order.

It was
P: for laughter
Q: occasion
R: scarcely an
Options:
1) PRQ

2) RQP

3) QPR

4) RPQ
Correct Answer: RQP
Candidate Answer: RQP

QID : 171 ­ In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The common courtesies of life are the endless little gestures we make almost unconsciously as we move through our day. As we go to work and ______ through our
day, we ______ with bus drivers, waitresses, people on the street, and countless others. How we interact with these individuals can ______ their day and ours. The
______ courtesies of life, from treating a frazzled server with respect to smiling at the person seated across from us on the bus, should ______ be forgotten.

work and______ through our day

(19)
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Options:
1) muddle

2) distribute

3) fragment

4) create
Correct Answer: muddle
Candidate Answer: create

QID : 172 ­ In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The common courtesies of life are the endless little gestures we make almost unconsciously as we move through our day. As we go to work and ______ through our
day, we ______ with bus drivers, waitresses, people on the street, and countless others. How we interact with these individuals can ______ their day and ours. The
______ courtesies of life, from treating a frazzled server with respect to smiling at the person seated across from us on the bus, should ______ be forgotten.

we ______ with bus drivers
Options:
1) attract
2) interact
3) retreat
4) reflect
Correct Answer: interact
Candidate Answer: interact

QID : 173 ­ In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The common courtesies of life are the endless little gestures we make almost unconsciously as we move through our day. As we go to work and ______ through our
day, we ______ with bus drivers, waitresses, people on the street, and countless others. How we interact with these individuals can ______ their day and ours. The
______ courtesies of life, from treating a frazzled server with respect to smiling at the person seated across from us on the bus, should ______ be forgotten.

individuals can ______ their day
Options:
1) effect

2) suspect

3) affect

4) concept
Correct Answer: affect
Candidate Answer: effect

QID : 174 ­ In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The common courtesies of life are the endless little gestures we make almost unconsciously as we move through our day. As we go to work and ______ through our
day, we ______ with bus drivers, waitresses, people on the street, and countless others. How we interact with these individuals can ______ their day and ours. The
______ courtesies of life, from treating a frazzled server with respect to smiling at the person seated across from us on the bus, should ______ be forgotten.

and ours.The ______ courtesies of life
Options:
1) different

2) contracting

3) debatable

4) common
Correct Answer: common
Candidate Answer: common

QID : 175 ­ In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The common courtesies of life are the endless little gestures we make almost unconsciously as we move through our day. As we go to work and ______ through our
day, we ______ with bus drivers, waitresses, people on the street, and countless others. How we interact with these individuals can ______ their day and ours. The
______ courtesies of life, from treating a frazzled server with respect to smiling at the person seated across from us on the bus, should ______ be forgotten.

should ______ be forgotten
Options:
1) clever

2) waiver

3) shower

4) never
Correct Answer: never
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Candidate Answer: never

QID : 176 ­ Which of the following metals have NOT been discovered from the Harappan sites so far?

हड़唆ाकालीन 𐀆थलो ंमꬅ अभी तक िकस धातु की ꬅा埤�韕� नही ंꬅईं है?
Options:
1) Copper
तांबा
2) Gold
퟉�ण塪�
3) Silver
ýांदी
4) Iron
लोहा
Correct Answer: Iron
लोहा
Candidate Answer: Iron
लोहा

QID : 177 ­ Which of the following is NOT included in the "Triratna" of the Buddhism?

बौퟜ� धम塪� के िꬅरퟸ� मꬅ 韥�ा शािमल नही ंहै ?
Options:
1) Buddha
बुퟜ�
2) Religion
धम塪�
3) Sangha
संघ
4) Middle way
मퟰ�म माग塪�
Correct Answer: Middle way
मퟰ�म माग塪�
Candidate Answer: Middle way
मퟰ�म माग塪�

QID : 178 ­ In which type of rocks coal is found?

कोयला िकस ý윁ान मꬅ पाया ÿाता है ?
Options:
1) Metamorphic rock
पퟝ�रवित塪�त ý윁ान
2) Sedimentary rock
परतदार ý윁ान
3) Abiotic rock
अÿैव ý윁ान
4) Igneous rock
आ㤂ेय ý윁ान
Correct Answer: Sedimentary rock
परतदार ý윁ान
Candidate Answer: Metamorphic rock
पퟝ�रवित塪�त ý윁ान

QID : 179 ­ Indian Desert is called __________.

भारतीय मꬅ𐀆थल को ____________कहते ह塪�।
Options:
1) Thar
थार
2) Sahara
सहारा
3) Gobi
गोबी
4) Atacama
अटाकामा
Correct Answer: Thar
थार
Candidate Answer: Thar
थार

QID : 180 ­ The Constituent Assembly held its final session on which day?

संिवधान सभा ने संिवधान को अंितम ꬅप से िकस िदन पाퟝ�रत िकया ?
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Options:
1) August 15, 1947
15 अग턄, 1947
2) December 15, 1948
15 िदसंबर, 1948
3) November 26, 1949
26 नवंबर, 1949
4) January 26, 1950
26 ÿनवरी, 1950
Correct Answer: November 26, 1949
26 नवंबर, 1949
Candidate Answer: January 26, 1950
26 ÿनवरी, 1950

QID : 181 ­ The provision of federalism of the Indian Constitution has been borrowed from which nation?

भारतीय संिवधान मꬅ संघवाद िकस देश से िलया गया है ?
Options:
1) UAE
यूएई
2) USA
यूएसए
3) Australia
आោ�塪� े िलया
4) Canada
कनाडा
Correct Answer: Canada
कनाडा
Candidate Answer: USA
यूएसए

QID : 182 ­ India's legitimate currency is ___________

भारत की िविधꬅाहय मुꬅा है _______________.
Options:
1) Euro
यूरो
2) Rupee
ꬅपया
3) Dollar
डॉलर
4) Pound sterling
पौडं ោ�िलꬅग
Correct Answer: Rupee
ꬅपया
Candidate Answer: Rupee
ꬅपया

QID : 183 ­ Which institution regulates the insurance sector in India?

भारत मꬅ बीमा 埜े�ꬅ का िनयमन कौन­सी सं𐀆था करती है ?
Options:
1) DFHI
डीएफएýआई
2) SEBI
सेबी
3) IRDA
आईडीए
4) LIC
एलआईसी
Correct Answer: IRDA
आईडीए
Candidate Answer: IRDA
आईडीए

QID : 184 ­ On which principle does the Nuclear Power Plant work?

परमाणु श埤�韐� संयंꬅ िकस िसퟜ�ांत पर काम करता है ?
Options:
1) Fission
िवखंडन
2) Fusion
संलयन
3) Thermal combustion
तापीय दहन
4) No option is correct.
कोई भी िवक� सही नही ंहै
Correct Answer: Fission
िवखंडन
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Candidate Answer: Fission
िवखंडन

QID : 185 ­ All acids produce _____________ when dissolved in water.

सभी अ考 ÿल मꬅ घुलकर ꬅदान करते ह塪� _______________।
Options:
1) OH­ion
OH­ आयन
2) H+ ion
H+ आयन
3) Electron
इले韀�塪� ॉन
4) Neutron
嘅ूट塪� ॉन
Correct Answer: H+ ion
H+ आयन
Candidate Answer: OH­ion
OH­ आयन

QID : 186 ­ When someone lands on Moon, his body's ______________________.

ÿब कोई 更埤�韐� ý欅मा पर उतरता है तो उसके शरीर मꬅ उप埤�𐀆थत _______________।
Options:
1) mass changes
ꬅ更मान मꬅ पퟝ�रवत塪�न होता है
2) weight decreases and the mass remains unchanged
भार घट ÿाता है तथा ꬅ更मान अपퟝ�रवित塪�त रहती है
3) weight changes
भार मꬅ पퟝ�रवत塪�न होता है
4) mass and weight decrease both
ꬅ更मान तथा भार दोनो ंमꬅ कमी होती है
Correct Answer: weight decreases and the mass remains unchanged
भार घट ÿाता है तथा ꬅ更मान अपퟝ�रवित塪�त रहती है
Candidate Answer: weight decreases and the mass remains unchanged
भार घट ÿाता है तथा ꬅ更मान अपퟝ�रवित塪�त रहती है

QID : 187 ­ When a cyclist turns on a turn, he __________________.

कोई साइिकल सवार िकसी मोड़ मꬅ घूमता है, तो वह _______________।
Options:
1) bends outward
बाहर की ओर Āुकता है
2) bends inwards
अ唄र की ओर Āुकता है
3) bends forward
आगे की ओर Āुकता है
4) does not bend at all
िबलकुल नही ंĀुकता है
Correct Answer: bends inwards
अ唄र की ओर Āुकता है
Candidate Answer: bends inwards
अ唄र की ओर Āुकता है

QID : 188 ­ Which of the following is a stem?

िन猄िल埤�खत मꬅ से कौन एक तना है?
Options:
1) Potato
आलू
2) Carrot
गाÿर
3) Sweet potato
शकरकंद
4) Radish
मूली
Correct Answer: Potato
आलू
Candidate Answer: Sweet potato
शकरकंद

QID : 189 ­ ____________ provides various attractive colors to flowers and seeds.

फूलो ंऔर बीÿो ंको िविभ꤄ ꬅकार के आकषक塪�  रंग ꬅदान करता है ____________।
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Options:
1) Leucoplast
កू�कोᔈाោ�
2) Chromoplast
ꬅोमोᔈाោ�
3) Chloroplast
프ोरोᔈाោ�
4) Tonoplast
टोनोᔈाោ�
Correct Answer: Chromoplast
ꬅोमोᔈाោ�
Candidate Answer: [ NOT ANSWERED ]

QID : 190 ­ What is studied in Ornithology?

ऑिन塪�थोलॉÿी (Ornithology) मꬅ िकसका अퟰ�यन होता है ?
Options:
1) Bird
प埜�ी
2) Mammals
턄नधारी
3) Bat
ýमगादड़
4) fish
मþली
Correct Answer: Bird
प埜�ी
Candidate Answer: Bird
प埜�ी

QID : 191 ­ Soil erosion can be prevented ___________________.

मृदा अपरदन रोका ÿा सकता है: ____________.
Options:
1) by Overgrazing
अित ýराई 怄ारा
2) by Eradication of vegetation
वनퟳ�ित उ쀅ूलन 怄ारा
3) by afforestation
वनरोपण 怄ारा
4) by increasing the number of birds
पि埜�यो ंकी सं埜�ा मꬅ वृ埤�ퟜ� 怄ारा
Correct Answer: by afforestation
वनरोपण 怄ारा
Candidate Answer: by afforestation
वनरोपण 怄ारा

QID : 192 ­ In computer science, what is "Memory" word related to?

कं៰ू�टर िव埱�ान मꬅ "मेमोरी" शퟜ� िकससे संबंिधत है ?
Options:
1) With Logic
लॉिÿक से
2) With Control
कंट塪� ोल से
3) With Input
इनपुट से
4) With Storage
ោ�ोरेÿ से
Correct Answer: With Storage
ោ�ोरेÿ से
Candidate Answer: With Storage
ោ�ोरेÿ से

QID : 193 ­ Which game has 7 players in each side?

िकस समूह के खेलो ंमꬅ ꬅ埤े�क प埜� मꬅ 7 埤�खलाड़ी होते ह塪� ?
Options:
1) Basketball and kabaddi
बा០े�टबॉल व कबꨂी
2) Baseball and water polo
बेसबॉल व वाटर पोलो
3) Water polo and kabaddi
वाटर पोलो व कबꨂी
4) Polo and Kho­Kho
पोलो व खो­खो
Correct Answer: Water polo and kabaddi
वाटर पोलो व कबꨂी
Candidate Answer: Basketball and kabaddi
बा០े�टबॉल व कबꨂी
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QID : 194 ­  "Shrimadabhagwat Gita" is a part of to which of the following book?

"픅ीम埭�ागवत गीता" िकस ꬅ嘅 का भाग है?
Options:
1) Panchatantra
पंýतंꬅ
2) Hitopadesh
िहतोपदेश
3) Mahabharata
महाभारत
4) Ramayana
रामायण
Correct Answer: Mahabharata
महाभारत
Candidate Answer: Mahabharata
महाभारत

QID : 195 ­ From which of the following route did Prime Minister started "Udaan Yojna"?

ꬅधानमंꬅी ने 'उड़ान' योÿना का ꬅार윁 इन मꬅ से िकस माग塪� से िकया?
Options:
1) Shimla­Delhi route
िशमला­िद㤂ी माग塪�
2) Mumbai­Delhi route
मु韀�ई­िद㤂ी माग塪�
3) Goa­Punjab route
गोवा­पंÿाब माग塪�
4) Shimla­Tamilnadu route
िशमला­तिमलनाडु माग塪�
Correct Answer: Shimla­Delhi route
िशमला­िद㤂ी माग塪�
Candidate Answer: Mumbai­Delhi route
मु韀�ई­िद㤂ी माग塪�

QID : 196 ­ Who invented the process of the photography on metal?

धातु पर फोटोꬅाफी की ꬅिꬅया की खोÿ िकसने की थी?
Options:
1) J Neepse
ÿे नी韥े�
2) Roentgen
रॉ៝�ÿेन
3) John Dalton
ÿॉन डा�न
4) Albert Einstein
अ힀�ट塪� आइंោ�ीन
Correct Answer: J Neepse
ÿे नी韥े�
Candidate Answer: [ NOT ANSWERED ]

QID : 197 ­ Which of the following is NOT a folk dance?

इनमꬅ से कौन भारतीय लोक नृ埤� नही ंहै?
Options:
1) Ghoomar
घूमर
2) Kathakali
कथकली
3) Garba
गरबा
4) Dandiya
डांिडया
Correct Answer: Kathakali
कथकली
Candidate Answer: [ NOT ANSWERED ]

QID : 198 ­ The first Indian to be awarded th Magsaysay Award is ___________.

मैगसेसे पुर០�ार'से स耆ािनत होने वाले ꬅथम भारतीय  _________ह塪�।
Options:
1) Acharya Vinoba Bhave
आýय塪� िवनोबा भावे
2) Jai Prakash Narayan
ÿय ꬅकाश नारायण
3) Mother Teresa
मदर टेरेसा
4) Kiran Bedi
िकरण बेदी
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Correct Answer: Acharya Vinoba Bhave
आýय塪� िवनोबा भावे
Candidate Answer: [ NOT ANSWERED ]

QID : 199 ­ Which of the following country's airways launched the world's longest flying service in 2017?

वष塪� 2017 मꬅ िन猄िल埤�खत मꬅ से िकस देश के एयरवेÿ 怄ारा िव昄 की सबसे ल韀�ी अवधी की उड़ान सेवा शुꬅ की गई?
Options:
1) Qatar
क़तर
2) Germany
ÿम塪�नी
3) United Arab Emirates
संयु韐� अरब अमीरात
4) Japan
ÿापान
Correct Answer: Qatar
क़तर
Candidate Answer: [ NOT ANSWERED ]

QID : 200 ­ Which is the longest river in Sri Lanka?

픅ीलंका की सबसे ल韀�ी नदी कौन सी है?
Options:
1) Pamban river
पंबन नदी
2) Mahaweli River
महावेली नदी
3) Maha Oya River
महा ओया नदी
4) Kalu Ganga River
कालु गंगा नदी
Correct Answer: Mahaweli River
महावेली नदी
Candidate Answer: [ NOT ANSWERED ]
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